w

r o >

2005 11 90 100

5 50
a,b,c,d a® —2005=h*+2027 =c® - 2822 =d* + 2820

a>c>b>d B b>d>a>c C c>a>b>d D d>b>a>c
0.00067 x0.338 — (75x 0.00000102 + 0.00338 x 0.042) =

0.00008 B 0.000008 C 0.000529 D 0.0529

17 o7 L1137 ) (1322, g17 538
27 T 17 39 17 27 39

2 B 172 C 233/333 D 273

(A+4B):(5A-xB)=7:2
AB,xy (3A+B):(yB—-2A)=9:5 X:y=
2X+y=7

2 1 B 2 3 c 1 2 D 3 2
10

5 800

998.89 B 997.78 C 996.67 D 986.67

3 B 2 CcC 1 D O
ab |lal+a—b|<|a+|a-b]]|

a>0 b>0 B a>0 b<0 C a<0 b>0 D a<0 b<0

1 ABCD
£ 7z ABC ABD COoD 42 40 12
61 £ 7z
10 B 95 c 9 D 8

258 B 168 C 129 D 111

cc 1’_6 cc ,’+‘s ’1+“

,’+‘s ”+“ 7y



A 18 B 20 Cc 27

5 50
11 2005 =A A 10 3
12 “ 4
6 0 9 >”
13 135 70 125 75
110 125 /

14 2005=c, -3" +c,-3"+---+c -3" n a,,a,, -, a,

0 =1 c,c,...,C, 1 -1 a+a,+--+a =
15 9
16 Aoshoo.com EQEQ 12 /i

1 2 3 4 100
\
17 3 5 ABCDE
2 3
5 5 9
BC =10,CD=3,DE =6,AE =8 3
T

1 1 1 1 1 1

18 + + + = -—
(X=D(x+2) (x+2)(x+5) (x+5)(x+8) (x+8)(x+11) 3x-3 24

19 20 2005xyzxyzxyzxyz2005 17 37 X+y+2z2=
20 A B

B
A 20



